Prioritization Criteria
1.
Projects required by Statute, PUCT order, NERC compliance, or critical reliability of grid operations, IT infrastructure, or commercial settlement
1a.
Fixes an actual or potential market problem.
2.
High "value" to all market segments

3.
High "value" to one or two segments, or ERCOT
4.
Medium "value" for all segments

5.
Medium "value" for only one segment or ERCOT
The prioritization criteria get at one only dimension and miss the ease of implementation dimension.  You really need a matrix to go with the values such as:
	Priority\Implementation Difficulty
	Difficult and/or Expensive to Implement
	Moderately Difficult    and/or Expensive to Implement
	Relatively easy and/or inexpensive to implement
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Priority should go to those projects that fall in the upper right-hand corner of the Matrix  
["value" as determined by CBA, longevity (e.g. modification is long term or short term), and qualitative considerations as shown below:]
· Potential to conflict with ERCOT resources devoted to other projects

· Subcategory (IT infrastructure, grid operations, commercial settlement) and level of criticality (critical/high/medium/low) for reliability projects 
· Straw vote information on priority
· Direct benefit to Customers
· Impact on existing approved and prioritized projects
· Risk exposure as defined by risk management program
